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00 BACHELOR'S DEGREE PROGRAMME 
O 	 Term-End Examination 

December, 2011 

ELECTIVE COURSE : COMMERCE 
ECO-1 : BUSINESS ORGANISATION 

Time : 2 hours 	 Maximum Marks : 50 
(Weightage 70%) 

Note : Attempt both Part-A and Part-B. 

PART - A 

1. 	Distinguish between any two of the following : 
5+5=10 

(a) Business and commerce 

(b) Equity shares and preference share 

(c) Indoor advertising and outdoor advertising. 

(d) Bonded warehouse and public ware house. 

2. 	Write short notes on any two of the following : 

(a) Clearing and forwarding agents 
	5+5=10 

(b) Pricing Policy of Public utilities 

(c) Doctrine of subrogation 

(d) Functional middlemen 
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PART - B 
Attempt any three of the following questions : 

3. Explain the factors that determine the choice of 10 
the form of business organisation. 

4. What is capital structure ? Discuss various factors 
to be kept in mind while deciding capital structure 
of the company. 	 2+8=10 

5. "There is no need for the presence of wholesalers 10 
in the distribution channel and they should be 
eliminated." Discuss. 

6. "All business risks are not insurable." In the light 10 
of this statement, explain insurable risks and 
non-insurable risks. 

7. (a) Differentiate between a Government 
company and a public limited company. 5+5=10 

(b) What are the problems of public enterprises ? 

8. State the documents that must accompany an 10 
export shipment. Describe them briefly. 
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